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Quiz 8 — EE 421/ECG 621 Digital Electronics and Digital IC Design, Fall 2016

NAME: l@@ \/

Open book and notes.
Show your work for credit!

1. Below is the output filter and associated equations we derived in Lecture 14 for the
Buck switching power supply. Assuming the inductor value remains at 625 uH how
would the operation of the circuit change if the load current decreases to 1 mA?
Increases to 100 mA? (hint: the frequency of the input has to change, change to what?
Calculate it.) How does the duty cycle of the input change if the input swings from 0
to 5 and the output is 2.5 V. (5 points)

\
= L Yor= D - VDD
—L 0T

—out R L1 v ;I.- 9
V1 l%\ m!zgm 11 11 0 - vnr = E}————-——

L (l 'O) T
10y .
PULSE(0 50 1n 1n 4990 1u) l 10m e o Tetr e
Jaw =
5m 2

OWA 7. ‘ - ] A—-—A
go:géwieoal# T g =104 # L= g0

Thes - SV e
P A
— — 0.9
for T = A




